
u(t )=U⋅cos(ω t+ϕU )=Re [Û⋅e jωt ]

Jalova moč

i(t)=I⋅cos (ω t+ϕI)=Re [ Î⋅e
jωt ]

p(t )=u(t)⋅i(t)=U⋅I⋅cos(ω t+ϕU)⋅cos(ω t+ϕ I)=
U⋅I
2

⋅[cos(ϕU−ϕ I)+cos(2ω t+ϕU+ϕI)]

Û=U⋅e jϕU Î=I⋅e jϕ I

S=P+ jQ=
Û⋅Î *
2

=
U⋅e jϕU⋅I⋅e− jϕ I

2
=
U⋅I
2

⋅e j(ϕU−ϕ i)

P=⟨ p(t )⟩=Re[ Û⋅Î *
2 ]=U⋅I

2
⋅Re [e j(ϕU−ϕ i)]=U⋅I

2
⋅cos(ϕU−ϕI)

Q=Im[Û⋅Î *
2 ]=U⋅I

2
⋅Im [e j(ϕU−ϕ i)]=U⋅I

2
⋅sin (ϕU−ϕI)

|S|=|Û⋅Î *
2 |=U⋅I

2
=
p(tMAX)−p(tMIN)

2

Delovna moč

Navidezna moč

Kompleksna moč

p(t )

t

|S|

|S|P

T=
2π
ω
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